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IH H LT FLUEME 4 A 5H 6 7H 8 H 9H 10H 11H 12 H 1H 2 A 3H
PN s — — i = i) i = = = - i} i i i) ki
| BRI B2 4y — 10:10 9:25 13:34 11:23 9:50 10:10 9:40 - 9:30 13:32 12:07 9:26 11:50
H | KR C — 14.2 17.3 25.4 29.4 27.8 22.6 21.3 - 12.1 11.6 9.2 3.1 8.7
H KR C — 15.9 15.7 16.3 16.4 16.4 15.7 16.8 - 14.0 14.9 14.3 14.6 14.9
IKRFEAA PR/ pHH E RFIR ) — — - 6.6(23°C) - = 6.5(25°C) - - 6.7(24°C) 6.8(22°C) - - 6.5(21°C) -
A LRSS 2R E(BOD) mg/L — - 0.5 - - 0.7 - - - 0.5 i - - 0.7 -
Tl E £(SS) mg/L — - 1 AT - - 1 A i - - B 1R i - - 1 A i -
n—~F U YE mg/L — - 0.5 A - - 0.5 AT - - - 0.5 A i - - 0.5 A -
7 x /) — )V mg/L — - 0.2 it ~ - 0.2 A4 - - - 0.2 it - - 0. 243 -
i mg/L. — - 0.005 A — = 0.005 A7 - - - 0.005 At - = 0.005 A7 -
Qi mg/L — - 0.001 - - 0.003 - - - 0.004 - - 0.001 -
TafRPEEER mg/L. — - 0. 1A ~ - 0. 1 AT - - - 0. 1 AT - - 0.1 A4t -
VafigtE~ mg/L — - 0.1 A — - 0.1 - - - 0.1 - - 0. 1A -
EZA=IN mg/L — - 0.2 A — - 0.2 A i - - - 0. 24 - - 0.2 A i -
FIRIT L mg/L. 0.003 — 0.0003 i - - 0.0003 A5 - - - 0.0003 A5 - - 0.0003 At -
LT mg/L i dantey gRAN AN - RS d - - g - - - RS - - RS d -
& mg/L 0.01 - 0.001 A5 - - 0.001 Ak - - - 0.001 Ak - - 0.001 i -
VAV [IZa=0N mg/L 0.05 - 0.005 At - - 0.005 A - - - 0.005 At - - 0.005 AT -
fitts& mg/L 0.01 - 0.001 At ~ - 0.001 K75 - - - 0.001 At - - 0.001 T -
KK ER mg/L 0.0005 - 0.0005 A - - 0.0005 Atk - - - 0.0005 7 - - 0.0005 At -
7L LK ER mg/L Edantey qRAN AN - isng - - R g - - - g - - R g -
B | ARV LE T =/L (PCB) mg/L RS NZpnZ & - RS g - - RS d - - - RS g - - RS g -
K ZonoFL mg/L 0.01 - 0.001 At ~ - 0.001 75 - - - 0.001 735 - - 0.001 75 -
| 7rrmaxTFL mg/L. 0.01 - 0.0005 A - - 0.0005 A5 - - - 0.0005 A - - 0.0005 A -
N VA= t=P Y mg/L 0.02 - 0.002 i — - 0.002 K75 - - - 0.002 475 - - 0.002 K75 -
PUEAL IR S8 mg/L 0.002 - 0.0002 7 ~ - 0.0002 A5t - - - 0.0002 A5 - - 0.0002 Ak -
g | ZERTFLY mg/L. 0.002 - 0.0002 A - - 0.0002 A5 - - - 0.0002 A - - 0.0002 A5 -
] 1,2- 7Tk mg/L 0.004 - 0.0004 AJifi - - 0.0004 A — - - 0.0004 A ik — - 0.0004 A< -
1,1-Y/anxFL mg/L. 0.1 — 0.002 i - - 0.002 ik - - - 0.002 A4k - - 0.002 i -
H 1,2-y/7unxTFL mg/L 0.04 - 0.004 735 - - 0.004 A5 - - - 0.004 735 - - 0.004 AT -
1,1,1-N) oozt mg/L 1 - 0.0005 i - - 0.0005 A - - - 0.0005 At - - 0.0005 At -
1,1,2-N) 7oz mg/L 0.006 — 0.0006 ik - - 0.0006 At - - - 0.0006 ik - - 0.0006 At -
1,3-Y/aara~y mg/L 0.002 - 0.0002 ¥t - - 0.0002 i - - - 0.0002 ik — - 0.0002 At -
F7 A mg/L 0.006 — 0.0006 it - - 0.0006 A ik - - - 0.0006 i - - 0.0006 At -
ey mg/L 0.003 - 0.0003 ik — - 0.0003 A3 - - - 0.0003 it — - 0.0003 i -
FF BT mg/L. 0.02 — 0.002 i - - 0.002 ik - - - 0.002 Ak - - 0.002 i -
N mg/L 0.01 - 0.001 735 — - 0.001 A - - - 0.001 75 - - 0.001 75 -
R mg/L 0.01 - 0.001 A - - 0.001 AVt - - - 0.001 Ak - - 0.001 i -
ESES mg/L - - 0.01 - - 0.02 - - - 0.03 - - 0.01 -
5o mg/L - - 0.08 Ak ~ = 0.08 T - - - 0.08 K1 - - 0.08 K7 -
et YO R e mg/L - - 1.1 - - 1.1 - - - 0.88 - - 0.89 -
14— A %% mg/L 0.05 - 0.005 A - - 0.005 A - - - 0.005 A — - 0.0057iki -
PEFR mg/L — - 1.2 - - 1.1 - - - 1.0 - - 0.97 -
A mg/L — - 0.016 - - 0.011 - - - 0.028 - - 0.014 -
w4 mg/L — 4.7 4.6 4.5 4.3 4.4 4.3 4.7 - 4.4 4.4 4.4 4.5 4.9
BB R mS/m — 9.4 11 11 12 13 13 13 - 12 12 12 12 11
AAFF L HH pg-TEQ/L 1 — — — — — — — 0.0028 — — — = —
£ I H 476H 5H20H 639 H THTH 8H5H 9H8H 10H5H 10H5H 11H11H 12H8H 1H12H 2H9H 3H3H
pin = H 4720H 630 622H TH21H 8H19H 9H22H 10H19H 11H10H 11H25H 12H21H 1H24H 2H21H 3H1TH
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